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Honors Precalculus Name: \‘_/(0/) na_\/€ST! /
Chapters 1 and 2 Exam Period: 5
Cozean/Fox

Free Response

Directions: Please show all relevant work in a clear and concise manner. Failure to show work may result in a loss of

credit. Also ...
1. each question will be graded out of 9 points

2. all answers are to be exact or rounded to three decimal places %
3. use interval notation where appropriate /

1. Solve the following rational inequality algebraically and verify your solution using a graph. Make sure that all
relevant points are labeled on the graph.
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2. A Norman window is in the shape of a rectangle surmounted by a semicircle, as shown in the figure. Assume
that the perimeter of the window is 500 inches. Find the values of both 4 and r when the area is a maximum.

Find that maximum area.
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3. For questions 1-9, refer to the graphs of the functions f and g in the following figure. Assume that the
domain of each function is [0,10].
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1. For which x-value is f( WL(){ )(’L\

Ar which x-value is it true that g(x)< f(x)?, |
() When Y ig [@/ L

. Compute each of the following: ~ .
() (f+g)(§r}< Sg))«g— © (fe)(8)-(g)=d
® (7 -8)CFcna :-L @ (£/8)

; Compute g[f %0)] f[gk 1”() } )~l
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For'which x-Values is it true that f (x) 4 39 —]

\A/Len X 5 [@ LB

7. For Wthh x-values is 1t true that l f(x 3] <1?

Whon 3 ic. [5. 5]

8. Spemfy the coordmates of’the highest point on the graph of each of the following equations:

@ y=g(=x) (-€ 5) @ y=1() (0 5)

) y=-g(x) () 0) ) y-—f(x)gm'f@)

© y=g(x- 1)<7’ = ® y=-f(- x)(,b@)
/ 1()-£(5)

9. For which values of x in the interval (4,7) is the quantity negative?
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